KD-DV6406/KD-DV6405

Instal[ation/Connection Manual
LI EiETF

JV

GET0520-006A
[U/UT]

ENGLISH

This unit is designed to operate on 12 V DC, NEGATIVE ground electrical systems. If your vehicle does
not have this system, a voltage inverter is required, which can be purchased at JVC car audio dealers.

WARNINGS

1207DTSMDTJEIN
EN, CT
© 2007 Victor Company of Japan, Limited

X

FHEEREHER 12V - BEENERRL  MREHERZ G2 85 - MIFE—EE
[BRSEHAES » W] LIFE JVCIREE T B SR E 2

i

i =
= H

« DO NOT install any unit or wire any cable in a location where;
- it may obstruct the steering wheel and gearshift lever operations.
- it may obstruct the operation of safety devices such as air bags.
- it may obstruct visibility.
« DO NOT operate the unit while driving.
« If you need to operate the unit while driving, be sure to look around carefully.
« The driver must not watch the monitor while driving.
If the parking brake is not engaged, “DRIVER MUST NOT WATCH THE MONITOR WHILE
DRIVING.” appears on the monitor, and no playback picture will be shown.
- This warning appears only when the parking brake lead is connected to the parking brake
system built in the car.

To prevent short circuits, we recommend that you disconnect the battery’s negative terminal and make all
electrical connections before installing the unit.
« Be sure to ground this unit to the car’s chassis again after installation.

Notes:

« Replace the fuse with one of the specified rating. If the fuse blows frequently, consult your JVC car audio
dealer.

« Itis recommended to connect speakers with a maximum power of more than 50 W (both at the
rear and at the front, with an impedance of 4 Q) to 8 Q). If the maximum power is less than 50 W,
change “AMP GAIN” setting to prevent the speakers from being damaged (see page 25 of the
INSTRUCTIONS).

« To prevent short circuits, cover the terminals of the UNUSED leads with insulating tape.

« The heat sink becomes very hot after use. Be careful not to touch it when removing this unit.

Heat sink — =<

- UDE T EREAKAERER
- FIREE I BHEIE S MR A SR HHEIRAE -
- JREEIRERERE RERRFNNUE -
- FIREE BRI AVLE o
« DB PIR A o
- FEELBREPETRIEEAM  tIKBERNIENA -
- ERVB T RELARPNBERTS -
g%ﬁ%ﬂﬁ%ﬂﬁé RS BEISFVWMEBRTRR o7 FREMRS LHE - BEAENE
- EEFREDRESEANENFHERGAERSLESNES §HE -

ol 1Al - AR ER AR AT - BRI B - SRS AR T o
- RETERBURAROMIRERZESS -

AE:

o HECRBEHASE HORERE BRTERIIRRRM o A1 RIRBEAE R R > 35 m VC IRE B/ #Hr R -

o BEATESE SRR AT ERRN sow > HIEF A 40 — 80 < MIRFEARINZE DR
50 W GEAAFL “AMP GAIN” ZX7E(H - LA IL S5 - (SR ARIAZENE 25 H) »

o Rl (R BIRATRE - 3 AR B SRR AR T -

o ARETA - B GIREN o BRI > TERS AR » /OSSR -

B
PRECAUTIONS on power supply and speaker connections: ERMNIEE RS T EEIE:
« DO NOT connect the speaker leads of the power cord to the car battery; otherwise, the unit . {j4jpigastEminnmin Tt » FE|IAKISE R ERIE -
will be seriously damaged. o RS S AR R B A A NS E LB R
« BEFORE connecting the speaker leads of the power cord to the speakers, check the speaker wiring in
your car.
T A T )
S 4
+ + + +
R _ R _
=i \
Parts list for installation and connection RN REMEZNZEEE
If any item is missing, consult your JVC car audio dealer immediately. EEEMEER  SLEEREN JVC IR S RN -
®/® © © ®
Hard case/Control panel Sleeve Trim plate Power cord
T /42 I T A INER SERMHE R AR AR R
® © ® ®
Crimp connector Washer (95) Lock nut (M5) Mounting bolt (M5 X 20 mm)
PSR #HEE (05) N—r HEIREE (M5) REERE (M5 x 20 mm)
N
v
Rubber cushion ‘ Handles AV mini plug cable Remote controller Battery
SIERTEE WA T AV KR 5H A A EER it ®§)
RM-RK252 R03/LRO3/AAA




INSTALLATION (IN-DASH MOUNTING)

Zi (Kax ~ BERHERRA)

The following illustration shows a typical installation. If you have any questions or require information
regarding installation kits, consult your JVC car audio dealer or a company supplying kits.
« Make sure not to block the fan on the rear to maintain proper ventilation when installing the unit.

THEAE R T IR AT - REERHE > SEEA MR ETTARE R 5 350 JVCIRE
HE RS ETT A E A R -
o TECRANEEPE ZEGR AR ARG » DUE(E 2 SEABRIR (R 1 5 A0 e, -

« If you are not sure how to install this unit correctly, have it installed by a qualified technician.

o ARSEAREREE AN IERES N 224 AR, - TERS SRR A\ B2 228 -

Do the required electrical connections.

HEATRT R A PERE 1 o

Bend the appropriate tabs to hold the
sleeve firmly in place.
FEHRARIZEE - YN BRI
TEREMRA -

When using the optional stay / Z & 2 1522

Dashboard
EER Q\

Stay (option)
SIS GERAINY)

Screw (option)

\(@ EEHRET GEEFY)

TEEELEEAE DT 30" A -

Install the unit at an angle of less than 30°.

When installing the unit without using the sleeve / &7 F3 7 Btk 22 St A

In a Toyota car for example, first remove the car radio and install the unit in its place.

LIEHM (TOYOTA) {RERMI: E/eMHIRHICER - A ARE AR HIE -

Flat head screws (M5 x 8 mm) *2
SEEERE R ET (M5 x 8 mm) *2

Bracket ¥2

FepE e

%> Flat head screws (M5 x 8 mm) *2
/ 2 @ SEGEERARET (M5 x 8 mm) *2
Pocket d /
=R
Bracket *2
FERE *2
Note : When installing the unit on the mounting bracket, make sure to use the 8 mm-long screws. If longer screws
are used, they could damage the unit.
PE =1 s HEABRZAEAEFERE EIFF - BEAGER] 8 mm RAVIEHRE] o AN FBRAVERGET - EHREAH -

Removing the unit
Before removing the unit, release the rear section.

HR AN
TEAEIZEBERT » MENG AR e e L A RSB S B -

Insert the two handles, then pull them as
illustrated so that the unit can be removed.

SR > SR IEEIE TR - R

%ﬂﬁ%tﬂ%ﬁﬁﬁﬂrﬂﬁl\ﬁﬂﬁ}#ﬁ? » KHREZ
i o

*1 When you stand the unit, be careful not to damage the fuse on the rear.
*2 Not supplied for this unit.
*3 Avoid touching the connectors.

¥ EEEARRIT - O BRI AT GBS ©
*2 FREAPEIRGL -
*3 kSR PEARERLER o

TROUBLESHOOTING

B PEHEBR

+ The fuse blows.

* Are the red and black leads connected correctly?

+ Power cannot be turned on.

* Is the yellow lead connected?

« No sound from the speakers.

* Is the speaker output lead short-circuited?

+ Sound is distorted.

* Is the speaker output lead grounded?

* Are the “~” terminals of L and R speakers grounded in common?

« Noise interfere with sounds.

* Is the rear ground terminal connected to the car’s chassis using shorter and thicker cords?

« This unit becomes hot.

* Is the speaker output lead grounded?

* Are the “~” terminals of L and R speakers grounded in common?
« This unit does not work at all.

* Have you reset your unit?

- {RIRHHIZER -
* ARETHL (1 A B2 B B (AR B R A e L
« BRETHERE -
* WA GERIAR G L2
- BERAEES -
* WAL R SR RO TR
- BEXH-
* WA AR IR T RS e
* REBBROL (L) 4 (R) WPOER " REHER¢T?
CRETEIE-
* T e - B B R (o B R 5 ) R A
* WA AR IR T RS e
* REHBROL (L) 4 (R) WFOER "7 REHFEHEM?
o AT ETHERE o
)" ERE TR EE TR




ELECTRICAL CONNECTIONS

e .|

EIREE

HBIRIRIRTI A

RE
Before connecting: Check the wiring in the vehicle carefully. Incorrect connection may cause serious
damage to this unit.
The leads of the power cord and those of the connector from the car body may be different in color.

“ Typical connections /

T Connect the colored leads of the power cord in the order specified in the illustration below.
2 Connect the antenna cord.

3 Finally connect the wiring harness to the unit.

BEARAD ¢ (A B RS o NIERER R E S BCR kA 1R -
BEURERAYS [ HRADE B R e AR 5 HRTEBA (1 ERTREBFT A -

T RER T B AR 2 R AR AR A (L A

2 HERARH BB o

3 Rtk HERCARRAIEEIETE A I

’

VIDEO OUT LINE IN
(see diagram [ / Z2RH[E % M) (see diagram [@ / Z2[E 3
15 A fuse
Antenna terminal 15 A (kR
Ksr |
L
L l u O DQ | Rear ground terminal

T Behin

>

EINERE (2HE

o o

DIGITAL OUT
\ (see diagram B / 2
2 R ) 4

@

Yellow *2
B

@

Line out (see diagram [@)

i (Z2EEEEE)

®

Blue
]

To metallic body or chassis of the car

EES BRSO R

To alive terminal in the fuse block connecting to the car battery
(bypassing the ignition switch) (constant 12 V)

PR RSB TR
(AR SR BE K BARR) (I 12 V)

To an accessory terminal in the fuse block

EELRBHER TR B

)

—L To external components (see diagram [d )

#R)

7 |

%1 1

Ignition switch

A KRR

BT+ PRbE BT B A A A e g

Fuse block
R BT

To the automatic antenna if any (250 mA max.)

Blue with white stripe

B H H B IR

(POWERANTENNA)<j @

-1

HEHERM (HHER) (FK250mA)

FIRAX

To the remote lead of other equipment (200 mA max.)

Light green
Bk

(REMOTE OUT)
1(®

EEEHAAEE FAERER (FRK 200mA)

(PARKING BRAKE) @

To parking brake, metallic body or chassis of the car

EEFREEL - GBI HER

White with black stripe White
HERERERL ) ) A&

Gray with black stripe Gray
REFERERL ) +) K&

Left speaker (front) Right speaker (front)
KHES (AE) LR (AR

Green with black stripe
HEmE RO ) ) #E

Purple with black stripe Purple
FREWAROET ) ) %6

Green

Left speaker (rear) Right speaker (rear)
K (RE) s (RE)

B Connecting the parking brake wire / ;8% Z F 7| B 815

When installing the monitor in a location where it can be seen by the driver
Connect the parking brake wire to the parking brake system built in the car.

Yk

RN SR R BT A R LB RV B RS
S T BB 5 22 o ) T EERA

Parking brake wire (light green)

4

Parking brake
FE

%

Rt

FRIEER (FkE)

PARKING BRAKE

S I=:E g

7/

(

)

ﬁ To metallic body or chassis of the car

@
0]«

@ ==
©)

RS S A

Tﬁ\

Parking brake switch (inside the car) B RS R
FRIEFAR (LI THEA) 3
When installing the monitor in a location where it cannot be seen by the driver *
Connect the parking brake wire to metallic body or chassis of the car. 1 )
Ed- P e RAHAMY = 4—: l
TSR AR R R B T RN ERF PARKING BRAKE

Parking brake wire (light green)
FoRIsER (k)

Connecting the crimp connector / ;2% 3 71258

Wire connecting the battery and the parking brake switch.

AN T BB AR o

\

%

Attach the parking brake wire to this point.

TR R AR E IR -

Contact the metallic part of the crimp to the wires inside.

PSRN EUN TR R

<

Pinch the crimp firmly.
HREX ST B

*1 Not supplied for this unit.
*2 Before checking the operation of this unit prior to installation, this lead must be connected, otherwise power
cannot be turned on.

*1TREA AR o
*2 RBORZEERY - AT LIERUUREZ AT » WEIEE S b » BRI RERREER -




E Required connections for DVD and AV IN playback / &/ DVD 1 AV IN Fr &Y

Video cord *3

HSHEE N * KD-DV6406/KD-DV6405
'@ |
. oA
© @© !

V\DED

—>
®

D
Audio/video control amplifier or the decoder
KV-MR9010 compatible with the multichannel digital sources
9-INCH WIDESCREEN MONITOR *3 L VAL VRN NG BT 4 SEL (U
9 TR RE TR A *3 . X YRR <=
Digital optical cable *3
BURR A 3
E Connecting the external amplifier / E1EZE I MEBINR LA S
You can connect an amplifier to upgrade your car stereo system. ] DE DN 2SR 3 LUER A G *"}E“$7(f‘fﬁ °
« Connect the remote lead (blue with white stripe) to the remote lead of the other equipment so thatit  « FEEPEER (EEEH GG MEMIEE FRREPEEREEENR » DUE LUBRARET
can be controlled through this unit. EE -
« Disconnect the speakers from this unit, connect them to the amplifier. Leave the speaker o HSIRRERANAKLERRD - I LIhRMARS - AN ERIZEHETA
leads of this unit unused.
Remote lead Y-connector *
EPEER Y- ﬁ”;ﬁ%%f%% *3

]

Remote lead (blue with white stripe)

EPER (B 6D

R/e(a{_:pﬁe;keﬂr: To the remote lead of other equipment or automatic antenna if any
REHES :[] R HMAEE FHREETIRE B BRI CEHRER)
JVC Amplifier |t '® ‘4— L » ILL = —
JVCIHEMASR |[r@ 4— C@“ ||E|]:, —

-
g *5 L[q
Front speakers

HIE B

k

KD-DV6406/
R KD-DV6405

®©®

H Connecting the external components / E#ZH Mz E

When connecting the external components, refer also to the manuals supplied for the componentsand & EEIMZEEEIF » 732 EREHE B R M A 10 (31 F F1t
adapter.

CAUTION: gy -
Before connecting the external components, make sure that the unit is turned off. EEEINEAEE | > SEREE AR RCRAR o
You can connect the following JVC components to the CD changer jack. AT LGERELLT JVC S5 B CD #EiE R i 1L -
JVC component Model name JVCHE BUSR P TE
CD changer (CD-CH) CH-X1500, etc. CD #if8% (CD-CH) CH-X1500 %
You can also connect the following components through the various JVC adapters. e LGEET RN JVC SR E s DU N T -
« Connection cords may need to be purchased separately. o HPEEIR AT RE TR RS -
Component Adapter Model name #E L g BUSE T8
iPod Interface adapter for iPod KS-PD100 iPod iPod Ui S HARR KS-PD100
Portable audio player with line input | Line input adapter KS-U57 AR ATEFLRER ST | SR A s KS-U57
Jacks MR
Portable audio player with 3.5 mm | AUX input adapter KS-U58 W 3.5 mm Y REESA IR AL AUX iy A\ HEHAER KS-U58
stereo mini jack (R 6 2 MR i

When connecting an external component / &:E 12/ 3E B

«n»

CD-CH /KS-PD100/

To disconnect the connector / 721 B EIERS

KD-DV6406/KD-DV6405

Hold the connector tightly (D), then pull it out ().
Fids (©) > BEHERE (@) -

I
CD changer jack /

CD M kR KS-U57 / KS-U58
You can also connect an external component to the LINE IN plugs on the rear of the unit using a signal ~ ZEtAT DIIAEFRERE (BHE) (FIMNEEEEEE AR I AT LINE IN &5 -
cord (not supplied).
/—ﬂ'ﬂﬂ]]]]]:]:ﬂ < || *4 || mp-| [ @L | External component
I LINE IN | N[ ]D <= C@"D C:“@:, -p|| ®r IMERE
[ ]
KD-DV6406/
KD-DV6405

]

iPod & Apple Inc. (BRAR]) TE3RE ke HAEI 2L REER o

iPod is a trademark of Apple Inc., registered in the U.S. and other countries. ‘

*3 Not supplied for this unit. *3 THEABEAR L o

*4 Signal cord (not supplied for this unit). * (SUREE (TREARGRME) -

*5 Firmly attach the ground wire to the metallic body or to the chassis of the car—to the place uncoated with paint *5 Hﬁiﬂlﬁé@%}%ﬁ%ﬂyﬁﬁﬁ R R SHRE > HEE R MG EMAEE (WREE LWE » (E#EEER
(if coated with paint, remove the paint before attaching the wire). Failure to do so may cause damage to the BT > HRENAE o HIRAEAE » AIRE EriEEIAH o
unit.




